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Homework No. 8 Solution 
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(1) With ROC { }Re 2s < −  

Left-sided: ( ) ( ) ( )23 2t tx t e e u− − t= − − . (5%) 
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(a) Causal system : ( ) ( ) ( ) ( )2 t th t t e e u tδ −= + + . (5%) 

(b) Stable system: ( ) ( ) ( ) ( )2 t th t t e u t e u tδ −= + − − . (5%) 
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4.  
zero at: -5
poles at: 1 3 j− ±

(1) All poles are in the left half of s-plane, and with ROC: { }Re 1s > − , the 

system is both stable and causal. (7%) 
(2) All zeros are in the left half of s-plane, so a stable and causal inverse 

system exists. (8%) 
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